[bookmark: _GoBack][image: powers][image: AQA1 F12a][image: AQA1 F12b][image: AQA1 F12c][image: OCR H12]
image1.png
2 (a) Find the value of V1.6 + 0.96

[6))
(b) Find the value of 1.2¢

[6))
() Write 37.483 correct to 1 significant figure.

[6))

(Total for Question 2 is 3 marks)
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12 (a) Circlethevalueof 2%
[1 mark]
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12 (b) Circle the value of 53
[1 mark]

15 25 53 125
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12 (¢) Circlethevalueof 1
[1 mark]

12 14 72 288
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12 (a) Without using a calculator, show that v20 = 2V5.

(b) The point A is shown on the unit grid below.
‘The point B is 2v5 units from A and lies on the intersection of two grid lines.

Mark one possible position for B.
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